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%%% Optimal routing
state_num =30
horizon =100
lambda=0.5;
mu_1=05;

mu 2=05;

beta=0.1;

BB 1=1;

BB 2=1;

gamma =lambda+mu_1+mu 2;
alpha = gamma/(beta + gamma) ;

q 1=mu_l/gamma;

q_2 =mu_2/gamma;

p = lambda/gamma;
b_1=BB_1/(beta+ gamma);
b_2=BB_2/(beta+ gamma) ;

cost_before = zeros(state_num,state_num) ;
cost_after = zeros(state_num,state_num) ;
control = zeros(state_num,state_num) ;

for =1 horizon
for m=2:state_num
mm = min{state_num-1,m);
for n=2:state_num
nn = min(state_num-1,n);
temp=b_1*mm +b_2*nn +alpha*q_1* ..
cost_before(mm-1,nn)+alpha*q 2* ..
cost_before(mm,nn-1) ;
if cost_before(mm1,nn) <=...
cost_before(mm,nn+1)
cost_after(mm,nn) =temp + ...
alpha*p*cost_before(mm+1,nn)
control(mm,state_num-nn)=1 ;
else
cost_after(mm,nny=temp+-..
alpha*p*cost_before(mm,nn+1) ;
control(mm,state_num-nn)=0;
end
end
end
cost_before = cost_after;
end

switching = zeros(1,state_num);
for i=1:state_num
switching(i) = size(find(control(:,0)),1);
end
plot(switching(1:end-2));
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